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ESERCIZIO 3
Definite
Vg = U1 — Vg e UC_U1+02, Alz& e AQZE
2 U1 v2=0 U2 v1=0
segue
u u A — A
Ao=22 ZA 4+ A e A= 2T
/Uc ’l)d:O /Ud V=0 2
Per il circuito in questione si ha
R R
As)== |1+ 4R e Ay(s)=— 4R
R2 + 73 R2 + 3
1+ RgCS 1+ RgCS
Cosi:
A(s) = L H - Ity S Ry
2 R R 2 Rs
Ry + ——— Ry + ———— Ry + ————
14 RgCS 14 RgCS 14 RgCS
. 1 [ . R4(1+R305) o 1 R2+R3—R4+R3(R2—R4)CS
N 2 L R2+R3—|—R2R308 n 2 R2+R3—|—R2R308
R3(Ry — Ry)
1+ ———C
_ 1.R2+R3—R4‘ +R2—|—R3—R4 s
N 2 R2 + Rg R2R3
1 C
TRt R
e
1 R R 1 R
Ags) = = |=]1+ ! + ! =-|1+3 !
212 R + L R + L R + L
i T 1+ RyCs 2T 14 RyCs > T 14+ RsCs
. 1 -1+3 R4(1+R308) B 1 R2+R3+3R4+R3(R2+3R4)CS
N 4 L R2+R3+R2R305_ N 4 R2+R3+R2R308
R3(Rs + 3Ry) Cs
_ 1_R2+R3+3R4_ R2+R3—|—3R4
4 R2 + Rg 1 R2R3 Cs
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R3(Ry + 3Ry)

Ad(s) o 1 R2 —|—R3—|—3R4

Ry + R3 + 3Ry

Afs) 2 Ry+Rs—Ry Rs(Ry — Ry)

Ry + Ry — Ry

_ 1 Ry+ Ry +3R,y
2 Ry+R3;—Ry

= 19.89 Hz,

Cs

=95 (19.55dB),

Ry + Rz + 3Ry

- 27TCR3(R2 — R4) - 27TCR3(R2 + 3R4)

= 108 Hz,
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